MERNZFZ0T 2019 FSLTFHEARZIR

2021 £ 6 H 24 H

L (15 49) WREZL LRES A PEEMREIER KT 1, E A 2%
IHE.
2. (15 40) W {E,}° & R T—3EE. iR

2]

m(n@o E,) =0.
3. (1540 W A, B,CCRHLE m* (AAB)=m*(BAC) =0, IE
m*(AAC) =
XH, 5 AAC KR A5 B XHRE.
4. (15 4p) WEED f, EATNE B EARIERSCT £l {| f. |} &
E EAEWSCT | f .
5.(15 40 B f A& [a, b] LRIATINEEL. SKiE: f 2 [a, b ERATIIER 3L
6. (15 43) B m(E) <oo, f & E LHWERE, {F,} &5 5Ly
ORI RIE S ER

m(lim E,) = E.

R :
lim fdm / fdm.

n—oo

7. (10 43 W f A& [0, 1] J:EI’JT{J”J o B BUE R T%, {B.)7 2
[0, 1] HH—FImAE. s

lim fdm =0,
n—oo JE,
IES)
m(lim E,)=0.

n—oo



